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Multiplying with a Numberline Name:
Use the numberlineto solve each problem. Answers
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Multiplying with a Numberline Name:. Answer Key
Use the numberlineto solve each problem. Answers
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Multiplying with a Numberline Name:
Use the numberlineto solve each problem. Answers
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Name:. Answer Key
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Multiplying with a Numberline

Name:

Use the numberlineto solve each problem.
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ﬂh Multiplying with a Numberline

Name:. Answer Key

Use the numberlineto solve each problem.
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Use the numberlineto solve each problem. Answers
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Multiplying with a Numberline

Name:. Answer Key

Use the numberlineto solve each problem.
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Use the numberlineto solve each problem. Answers
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1)

ne Name:. Answer Key
Use the numberlineto solve each problem. Answers
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Use the numberlineto solve each problem. Answers
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Use the numberlineto solve each problem. Answers
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Use the numberlineto solve each problem. Answers
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ﬂh Multiplying with a Numberline Name:. Answer Key

Use the numberlineto solve each problem. Answers
1) 10 =
10x 5=
2. 16
2 4xa4= 10 20
e s 14
4x4= -
s 28
3 o2x7= 0 10
Sttt F———+—
7Tx2= 5. 20
[ | L1 L1 I T I R | | [ |
1T 1 1T 1 1 1 1T 1 1T 1 1T 1 1T 1 1 T 1T
7x4= 7 20
5 gxa= 10 0 g. 16
| | | | | | | | | | | | | | | | | | | | | | -
4)(5: | | | | | | | | | | | | | | | | | | | | I | |
9. 36

R AUUT: ST 75 SOV SOOI /00 PP ST PO

gx5= A CAUUA U AU AU A A T A
1. 20
) 2x10= 0 0
I T N TR (RN NN N N TN TR N N TN N R L
] ] ] ] ] ] ] ] ] ] L D I L
10x2=
8) o2xg= 0 20
[T TR T TN (R [T [N TR TN N N | [T TR TR [N NN NN N R N
T T I T T T T I N N I N RN N E N B
8x2=

Daxg= g a0 T W T m
gxg= N ATATIATATIAAT AT AT AT Y

10) 3x2= 10

2x3=

11) 4x5= 0 0

5x4=
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CﬂzLj Multiplying with a Numberline Name

Use the numberlineto solve each problem. Answers
1) 3x2= 0 10
| | | | | I | | | | | | | | | I 1|l 1
T T T T ] T T T T I T T T T ] 1
2x3=
2.
2) 2x9= 0 10 20
—————— 1 | 5
O9x2=
4,
3 4x7= 0 10 20 30
e e b e e e e b e g
L L L L L I L I L L
7Tx4= 5.
4) 5x9= 0 10 20 30 40 50 6.
Ox5= 7.
5 2x4= 0 10 8.
| | | | | | | | | | | | | | | | |
] ] ] ] ] ] ] ] ] I ] ] ] ] ] 1
4x2=
9.
6) 3x10= o0 10 20 30
Lt r v b v v v e e e e b e e e b g 10
N Y Y Y Y Y O O O I I Y Y Y N Y Y N N Y B
10x 3=
11.
) 2x2= 0 10
| | | | | | | | | | | | |
I T T T T ] T T T T I T T 1
2x2=
8) a4xg8= o 10 20 30
Lo v v v v r v v b e v v v v v e b e e e e e b
Y Y N Y I N Y Y Y I I Y N Y O Y N B B
8x4=
9 4x2= o0 10
| | | | | | | | | | | | | | | | | | |
T T T T ] T T T T I T T T T ] T T 1
2x4=
100 2x6= o 10
| | | | | | | | | | | | | | | | |
T T T T ] T T T T I T T T T ] T 1
6x2=
11) 5x5= o 10 20 30
Lt b e v b e e e b g
N N N I [ N Y N Y O N Y N Y N Y B B [N B N B
5x5=
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ﬂh Multiplying with a Numberline Name:. Answer Key

Use the numberlineto solve each problem. Answers
1) 3x2= 10
T 1 | _6
2x3=
2. 18
2) 2x9= 0 20
e I e A A B I I H———1 |[ 5 28
O9x2= EE—
4. 45
3 a4x7= 0 10 30
III'IIu'lil'lul'lll'ull'lllI.III
Tx4= 5. 8

Y sxo= o — @ e~ w6
gxg5= S AUAUUAT VA VAU AU .4

5 2x4= 0@ 10 g 32
| | | | | | | I | | | | | | -
4)(2: | | T | | I | | | | T 1
9. 8
6) _
3X1O_ Ol | N N A I N | | N N [ [N N | | N N [ [N N | Ol | I I I | 10 12
I I [ I I I I I I [ 1 I 1T 1T 1T 11
10x 3=

1. 25

) 2x2= m 10
| | l | | | | | | | |
] ] ] ] ] ] ] | ] ] |

8) axg= 0 20
[T R T R R [ I R R [ R [ R R A I [
1 T I 1 1 1 1 I T 11
8x4=
9) 4x2= 10
| | | | | l | | | | | | | |
T T T T T T T 1 T T T T T T T !
2x4=
100 2x6= o 10
———— ——+—— ——+—+—
6x2=
11) — 30
5XS I O I | I O I | I O I | I O I | I O I | I O I | | I O I |
I — I — I — I — I — I R R I |
Exb5=
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C:h Multiplying with a Numberline Name:

Use the numberlineto solve each problem. Answers
1) 2x9= 0 10 20
IR Y N TN AN Y N AN NN YT A Y N AN Y YN AN AN I TN N M I (N}
| N N Y B E B E I E I I R EN R R R R B B IR B I B N
9x 2=
2.
2 3x5= 0 10 20
——— 1 |5
5x3=
4,
3 4x2= 0 10
| | | | | | | | | | | | | | | | | | |
| T T T T ] T T T T I T T T T ] T T 1
2x4= 5.
4) 4xa4= 0 10 20 &
[T R R TN NN N (NN NN (N AN NN (NN NN NN (NN NN (N AN NN N NN NN SR N
L L L L L L L L L L L L L L I L L L L L
4x 4= 7.
5 4x10= o0 10 20 30 40 8.
10x 4=
9.
6) = 0 10
2x2 | | | | l | | | | | | | | 10.
T T T T ] T T T T I T T 1
2x2=
11.
7) 5x9= 0 10 20 30 40 50
9x5=
8 5x3= 0 10 20
T T TR AN R [T TR TR AN RO MO I TR TR NN NN A MR M |
N I IR B NN I I I E N R I R R R RN I R R R R B R
3x5=
9 4x7= o0 10 20 30
| N T T N T T T T N T N T T A A Y T T Y T N T N Y O T M
I N I N Y N Y I N N Y N Y Y Y B A O B
7x4=
100 2x8= o 10 20
| | | | | | | | | | | | | | | | | | | | | |
T T T T | — T T T 1 T T T ] T T T R 1
8x2=
11) 2x4= o 10
| | | | | | | | | | | | | | |
] ] ] ] ] ] ] ] ] I ] ] ] ] 1
4x2=
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ﬂh Multiplying with a Numberline Name:. Answer Key

Use the numberlineto solve each problem. Answers
1) = 0 20
o 4 +—+t—F++—+—+++F+++—+++ | 18
Ox2=
2. 15
2 3x5= g 20
Tttt s 8
5x3= '
4. 16
3) 4x2= 10
—— F—r— -
2x 4= 5. 40
4) pxa= 10 20 6. 4
[ R L [ [ [T TN NN N NN NN AR N |
| | | I | | | | | | | I | | | | | | | | 1

4x4= 7. 45

10x 4=

9. 28

6) 2 x 2 - m | | | | | 1|0 | | 10. 16

2x2=

5

11 8

L e TN < AT 7 TR s ST a0 ST YT
P UL U NI NP N N N N,

8) 5x3= 10 20
[ [ [ | I [ [T NN TR NN AN TR NN N
T T 1 T T 1 T T 1 | N IR I B I R I
3x5=
9 a4x7= 0 10 30
I T N [ I I I I I I I T N I (I T T O A |
T T [ T 1 1 1 [
7x4=
10) oxg= o 20
| | | | l | | | | | | | | l | | | | | |
] ] ] ] ] ] ] ] 1 1 |
8x2=
11) 2x4= g 10
| | | l | | | | | | | | |
T T I T T | T T T T 1
4x2=
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